39 8HAR—VIREL LR
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F39 8EANRN—VIEHL U
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P2 146 4200 (1) ~AE6A27H ()

FRERA 23 U721 B M O 55

*BIG (Bv?)

P2 146 H27H () KOHEFE6H28H (H)  J15H 158, J 252 44
cBIG1000 (EyZty)

VR 2 146 H27H () KOR4FE6H28H (H)  J 15154, J2FE245H
‘mini BIG (S=tv7)

FRE2 146 H27H () JT 151 58H., J 252 44

ctoto (FFK)

P2 146 H27H (1) KOHEFE6H28H (H)  J15H 158, J 252 44
‘mini toto Afl (S=rbhxAr3)

FRL2 146 H27H (f) T 151 58H., J 252 44

‘mini toto Bff (S =rhE—273)

VR 2 146 H2 7H () KOR4FE6H28H (H)  J 151 54
+totoGOAL3 (Fha—RAV—)

Rk 2 146 H27H () J 151 514

NS I
T2 146 H30H (k) ~Fk2 246 H29H (k)
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*BIG
B oE R A B B
N T B S R 7 oeqr—n] | < EFE
BAfE H
D 6/27 WHEY L HF. C. 2 %t 0 HFr 7Ly F o BE 1
® 6/27 Yot 2 %t 3 LA 2
® 6/217 WAL X 2 %t 0 A% 1
@ 6/27 Yz T7aF ATy FTEE 0 xf 2 RKETNVT 4 —T% 2
® 6/27 R BB 1ot 1 a2 F— LR 0
® 6/27 F CHIX 2 % 1 JEKT AL R 1
@ 6/28 ETT 4 A IWE 0 %t 1 g7 ez —1 2
® 6/28 FRIEF -~ U /A 1 % 2 VINZAVN 3 2
© | 6/28 TIE Ly 7 A 2 %1 BT T R 1
10 6/28 Ky bl =—% 1 %t 2 BEET v kT —X 2
@ 6/27 FIRE C 2 %t 3 I H 2
® 6/27 R T A NVT 4 A 2 %t 1 Uy o7 x— LR 1
® 6/27 FRIEF C 0 %t 2 P2 N E 2
@ 6/28 T B A g [ 1 xt 2 WY = VT 4 2
() < UHEROMF T 3R —2F—209075MToOBL, 2] A —LF—2D905MTOAIT,

0] 12 (1, 2LIAOfER) #£7,



W A4 WA K ] (BIG) N4
G q=p (F)
1 % 522,184, 560 1 0
2 % 2,039, 766 26 0
3 % 96, 702 274 0
4 % 12,000 2,211 0
B o= A5 A a1 (BIG) In% 4 (1)
e B&sE (M) 1,060, 679, 400 1 % 97,912, 800
BEOH (1) 3,535, 598 2 0
R (KO 877,808 3 A 0
4 =% 0
*BIG1000O
roE & fE R
T A N TS AR (ro=t7—n] | < ERF
A H
D 6/27 ARV HF. C. 2 % 0 HFr7ryF i 1
® 6/27 Yo B rEH 2 %t 3 MrA v 2
® 6/27 WLy X 2 % 0 D % )= 1
@ 6/27 YVxTZaf ATy FTE 0 xf 2 RKETNVNT 4 —Tx 2
® 6/27 F CHIX 2 % 1 TEKTZ AL A 1
® 6/28 ETT 4 A IWE 0 %t 1 g7 ey Z—1 2
©) 6/28 FRIEF -~ U /A 1 % 2 VINZAVN 3 2
6/28 TAE Ly T 2 2 % 1 HERT T A 1
© 6/28 Ky bl =—% I xt 2 BET T —X 2
6/27 BT LT 4 A 2 %1 7y 74— LHT 1
) 6/27 IR F C 0 xf 2 AP R 2
() < UHEROMF T 3R —2F—20905MToOBE, 2] A —LF—2D905MTOAIT,
o) X=oft (1, 2L OFER) 2#KT,
WA A FHE E R IRE YRIE] (BIG1000) AN 4>
G q=p (M
1 % 5,963, 426 9 0
2 % 127,786 105 0
3 % 11, 894 1,128 0
4 F 1,340 6, 671 0
B = A5 4 [a] (BIG1000) hi%i4: (M)
e B&sE (M) 178, 902, 800 1 % 0
BEOH (1) 894,514 2 0
BERH (KO 231,702 3 A 0
4 % 0




‘mini BIG
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Vo | B heagea) o (7 o=qr—n] | ¢ EFF
BAfE H

D 6/27 WHERY L HF. C. 2 %0 HFr 7Ly F o BE 1
® 6/27 Yot il 2 %t 3 LA v 2
® 6/27 WAL X 2 %t 0 A% e 1
@ 6/27 v T7aF ATy FTEE 0 xf 2 RKETNVT 4 —T% 2
® 6/27 R BB 1ot 1 a2 F— LR 0
® 6/27 F CH R 2 %t 1 TEKTZ AL A 1
@ 6/27 FIEF C 2 %t 3 YA 2
6/27 T T 4 A 2 %t 1 U7 74— VR 1
©® 6/27 FRIEF C 0 %t 2 P2 S E )
(E) < URSEOMT M) 1i2h—AF —2005 B TORBL, 2] 13h—AF—AD05BTOAT,

[0) X2 (1. 2L OFER) 2FKT,

U A SEH SR VIR WAl (mini BIG) NG 4
(F) (m (F)
1 % 1,026, 268 24 0
2 % 21,940 450 0
3 % 4,180 3,530 0
B = 45 it A [E (mini BIG) MN%4 (M)
e k& (M) 98, 521, 800 1 % 0
BEOH (1) 492, 609 2 0
R (KO 139,515 3 & 0
toto
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o | B heage) o (ro=qr—n] | < EFF
BAfE H
) 6/27 WHESY L HF. C. 2 %0 HFr 7Ly F o BE 1
® 6/27 Ta b 2 %t 3 LA 2
® 6/27 WAL X 2 %t 0 A% e 1
@ 6/27 YxzTZarAT v FTEE 0 xf 2 RKETNVT 44—V 2
® 6/27 ANV EAE 1 %t 1 o R—LALIE 0
® 6/27 FCHRE 2 %t 1 KT AL A 1
@ 6/28 ETT 4 A WE 0 %t 1 g7 ez —1 2
6/28 FRIEF -~ U /A 1 %t 2 VINZAVN 3 2
© | 6/28 TE Ly 7 A 2 % 1 RS T R 1
6/28 Ky b =—% 1 %t 2 EET v hT—X 2
@ 6/27 FIRE C 2 % 3 I H 2
® 6/27 R A NVT 4 A 2 %t 1 Uy o7 x— LR 1
® 6/27 FRIEF C 0 %t 2 P2 N E 2
GB) < UHEREOMF 1) 3R —2F =200 TOBE, (2] ZF—2F—209055MTOAT,

[0) X2 (1. 2L OFER) 2#FKT,



E R | E R VINE - WAl (toto) M 4
G q=p (F)
1 % 17,323,792 4 0
2 % 118, 815 125 0
3 % 10, 140 1, 464 0
S S - A Al (toto) NE 4 (1)
e E&%E (M) 197, 986, 200 1 % 0
BEOE (0) 1,979, 862 2 % 0
BeERE (B0 189, 494 3 % 0
*mini toto A#
BoE & A& & R
T AT N T AR (ro=t7—n] | < ERF
A H
D 6/27 ARV HF. C. 2 % 0 P77y F i 1
® 6/27 TabrER 2 %t 3 LA/ 2
® 6/27 WLy X 2 % 0 R ] 1
@ 6/27 V7t ATy FTE 0 xf 2 KETNVNTF 4 — % 2
® 6/27 RN EAIE 1 % 1 a2 R— LR 0
(1) < UHEROMF T 3R —2F—20905MToOBE, 2] A —LF—2D905MTOAIT,
o) X=oft (1, 2L OFER) 2#KT,
E R | ERVINE - YA (mini toto AHH) HNtE 4
G q=p (F)
1 % 21,001 452 0
& = A5 A Al (mini toto ARH) N4 (1)
e ek (M) 18, 985, 500 1% | 0
BEOE (0) 189, 855
BeEERE (B0 39,913
*mini toto B#
BoE & A& & B
T A N T AR (ro=t7—n] | < ERF
A H
D 6/27 F CH R 2 %t 1 EART Z 9L A 1
® 6/28 ETT 4 A WE 0 %t 1 g7 ez —1 2
©) 6/28 FRIEF « <~ U /A 1 % 2 VINZAVN 3 2
@ 6/28 TAE Ly T 2 2 %1 HEBT T A 1
® 6/28 Ky b =—% 1 %t 2 BEET v kT —X 2
(B) < UHEROMT M1 1ZA—2F—2D905HTOMBE, 2] 1ZF-—AF—2D045ToRIT,

0] 1= (1, 2LIAOfER) £,




W h e ERYVEE " VIl (mini toto BAL) AIEE4:
(M) (1) (M)
1% 1,701 5, 815 0
e H A Gt 4 El (mini toto Bff) M4 (1)
e ek (1) 19, 782, 700 1% | 0
FeEEn s (1) 197, 827
B (KO 38, 245

*totoGOALS3

B oE R & OB
” [F—2F—21] g < UAER
BfEH | No. (55T SO Gk B
6/97 @ | =mHEH > HF. C. 2 2
Q| vrvrryvF=iB 0 0
@ | Yabtu®H 2 2
6/21 @| wmraun 3 3
® | mfrvyX 2 2
6/21 ® P A% =] 0 0

GE) K URERoOMF T0) 13905 TOXKF — 2 D155 T08] |
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M1 X905 CTOEF—2DEA T4 .
3] 13907 CHEF—L0GR 3R E] &7,

Y A AHAE YA K a] (totoGOAL3) M4
(F) q=p (F)
1 % 528, 336 18 0
2 % 9,820 646 0
e I £ (8] (totoGOAL3) M4 (1)
7e bag () 31, 708, 800 1 % 0
B (M) 317,088 2 A 0
BeEERE (B0 46, 103




